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1. Ifn(A) =S5 and n(B) = 7, then the number of relations on Ax B 1s

(W)/ZH (B) 2% (C) 2% (D) 27 () 23535
2. Let ¢(x)= b(bx—a) + il ubb) , where xe R and a and b are fixed real numgers xgith
—-a a-— | __ a
a#b. Then ¢(a+b) 1s equal to b(@ﬂ))”@ + O:_(rCaftQ !:D— f——b L
Y A~b b4 Qa-b
(A) ¢(ab) (B) ¢(-ab) g(a)+¢(b)
(D) ¢(a-b) (E) ¢(0) 2 q 2
| Ca-db, blab - (@ap)siiab
3. The range of the function f(x)= xj i , XER is A0 b-A @'@*@@
‘ x +4 2 | “62__{1!
cha. e _ B,
WL ® G2 (© 02 ®L2] ®[352]  20-28
R Y
4. If n(A)=1000, n(B)=500 and if n(AnB)=1and n(Av B)= p, then - -9 ,ﬂ)
(A) 500< p <1000 (B) 1001< p <1498 T
(C) 1000 < p <1498 (D) 999 < p <1499 ,
(E) 1000 < p <1499 -l b5 a”
b;{@-f(b—@
; : 1 x4+ ) . _ b -k
S. The domain of the function f(x)=sin [ S ] 1S = A b-0

(A) [_11 IJ (B) [2: 3] (C) [3$7] (D) [_7* _3] (E) (—rﬂ_!r“ﬁ)

Space for rough work

3S
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6. If f(x)=x+1and g(x)=2x,then f(g(x)) is equal to

(A) 2(x+1) (B) 2x(x+1) (C) x () 2x+1 (E) 2x% +1
it 9 2 1 .
7. Ifz =e™ for k=1,2,3,4, where i" =—1,and if Zz_k =1, then sz 1s equal to
k=1 k=1
(A) 4 (B) 1 (C) 2 (D) 3 (E)
£ I
@ [f z:——zLH'% , then 8+10z+72z” is equal to
~1 3 _
I Al PO R i ¢
2 2 2 2 2 2

9. Let z#1 be a complex number and let ®=x+iy, y#0. If ml
- Z

|z‘ 1s equal to

2

(A) || (B) |w

€ — D —
| o]

l

(E) 1

1s purely real, then

Space for rough work
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10.

12.

13.

1+iz
Z+1
(A) y—x=0 @B) y+x=0 (C) y=0 (D) xy=1 (E) x=0

The locus of z such that =1 1s

The value of Z(f* i ) , Where i =—1, is equal to
k=0

(A) 71" By =& U A(€) i<i™ (D) F=i** (E) —i—i"
' 1 +i341 L b4
Let z, = —2J§+I6ﬁ and z, = ViL+i313 . Then | —+—| 1s equal to
67 +i24/3 W13 -i11 £z

(A) 47 (B) 264 (C) |z,-2, D) |z, +2,

(E) |z z,]

[f the equation ax* +bx+c=0, a>0, has two distinct real roots « and f such that
a <=5 and f#>35, then
a+b

(A) ¢>0 B) c=0 (C) ¢c=
(D) ¢<0 (E) c=a+b

Space for rough work
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14.

16.

17.

[’ and S are the distinct roots of ax” +bx+c¢ =0, where a, b and ¢ are non-zero real

aa’ +ba+6¢c af’+bB+19¢
: + —— 1S equal to
ap +bf+9 aa’ +ba+13c
36 17 19

(A) 18c¢ (B) 27¢ (C) pore (D) ry (E) x

numbers, then

I the equations x° +ax+bc=0and x” +bx+ca =0 have a common root and if a. b
and ¢ are non zero distinct real numbers, then their other roots satisfy the equation

(A) x*+x+abc=0 (B) x*—(a+b)x+ab=0
(C) x* + (a+ b)x+ab =0 (D) x°*+x+ab=0

(E) x° +abx+abc =0

l . ey B .
Iyr= x+—, x#0, then the equation (x* —3x+1)(x° —5x+ ) =6x" reduces to

X
(A) y'-8y+7=0 (B) y*+8y+7=0 (C) > —8y-9=0
(D) y°=8y+9=0 (E) y° =7y+13=0

. . - 11 . :
It log, 5, log,(5"—1) and log (5' —?_) are in A.P., then the values of x are

(A) log.4 and log, 3 (B) log;4 and log,3 (C) log, 4 and log, 5
(D) log,6 and log, 7 (E) 12,6

Space for rough work
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18.

19,

20.

21.

S’n = .ﬂ"!:;{a ',’@"Dd:]

4 10 28 82 244

L) ) ’ . .,'“iS
3° 9 27 81 243

The sum of first n terms of the series

(&) n+(1+37) B) n-2(1437)  (© nez(2+37)
1 i 1 »
(D) ”+§(2“3 ) (E) ﬂ+5(1—3 )

If > k(k+1)(k—1)=pn' +gn’ +tn" +sn, where p, ¢, ¢ and s are constants, then the
k=]

value of s 1s equal to

1 1 1 1 3
i g b L Mg (© = (R (F) =

In an A.P., the first term is 2 and the sum of first five terms is 5. Then the 31* term is

(A) 13 M (C)-13 (D) = (E) — £

2 2

Ifa, b, c,d are in G.P., then (a+b+c+d)° isequal to
(A) (a+b)’ +(c+d) +2(b+c) Bf (a+b)* +(c+d)’ +2(a+c)
(C) (a+b) +(c+d) +2(b+d)’ (D) (a+b) +(c+d)’ +(b+c)

(B) (a+b) +(c+d) +(b-c) &5 [A«FA@J g

Space for rough work
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|

1

(D) —

2

22. The sum of first n terms of the series
I+(1+x)y+1+x+x )Y  +(+x+x" +x7)y" +---is
1 I-1_ n l—x”V" n 1
(A) ( ] —— y| — (B) [-———
I-x)| 1=y L=xps ) l—x
1 Y1-y"  L(1-x"y") 1
(C) (-—] Py X (D) (
l-x)] 1-y l-xy )| 1—x
| 1 -1__ " 1_i_n " g
(E) (-—-—-—-—] A b
l-x )| 1=y l-xy )
23,
common ratio of the G.P. 1s
5 9 2
A) — B) — C) —
(A) F (B) 2 (C) 3
: S 1o 5. .
24. 1f n 1s any positive integer, then —,( R,) 1s equal to

(A) 2:4-6 -+ -(2n)
(D) <1231+ 4{38)

2

(B) 1:2:3 -

(E) 2-4-6 -+ -(2n+2)

(C) 1-3°5 wx=2n~1)

If 3. 7" and 12" terms of an A.P. are three consecutive terms of a G.P., then th

12

(B) —

Maths-1I/B1/12
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95.  Which one of the following is true?

(A) [1 +— 1 ) < n’, nisapositive integer

(B) [l+-1—] < 2. nis a positive integer aJ
n n,} \
,/"ﬁj,
(C) [H— ) < n’, nis apositive integer | i §
JEEL
(R
(D) (1+ ) > 2, nis apositive integer flh‘
1 = P e a .
( +—-) —n”+n+3, nisapositive integer
M1
26. When 2"°” is divided by 9, the remainder 1s
(A) 8 (B) 7 (C€) S (D) 6 (E) 1
1 0
27. The term independent of x in the expansion of (x-i—-—zj 1S
X
(A) 20 (B) 15 (C) 6 (D) 1 (E) 0
Space for rough work
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28. If C,,C,C,,C,,--- are binomial coefficients in the expansion of (l+-.r.)" , thet

—2 -4+ 2 4... isequal to

3 4 5 6

(A) s oy Bz + l
n+1 n+2 n+3 n+l n+2 n+3
1 l 1 2 1 2

(C) - (D) 3 ]
n+2 n+l n+3 n+l n+2 n+3

(E) — ~ —— + —

n+2 n+1 n+3

29. There are 10 persons including 3 ladies. A committee of 4 persons including at least on
lady 1s to be formed. The number of ways of forming such a committee is

(A) 160 (B) 170 (C) 180 (D) 175 (E) 155

. : . 1143
30. The sum of coefficients in the expansion of (1 +3x— 3x") is equal to

(A) -1 (B) 0 (€)1 (B3 2 (E) 2

10
31. The constant term in the expansion of [1 -(x - 2)2} 1s equal to

(A) 29 (B) 6 (C) 4 (D) 5 (Ej/3m
Space for rough work 10 2
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o @i
32. Moe : = . then the values of x and y are respectively YL X
hﬁ-’y i i |_1 1_ 'J\ gﬁu
mr)/ ' )
X)) —1,-1 (B) 1,1 (C) 0,1 (D) 1,0 (E) 0,0 6L
DT »
LY o

. 1 = _1-' 5
33. If A= .3 if det (4) = 2, then the value of x 1s equal to \& ~
—logx 2
(A) 2 e’ (C) -2 (D) e (E) log 2

« 2 2
n sin @ cos” «

34. ; j — 0, a € (0, ), then the values of ¢ are
cos & SIn & A
3 ! \
T T T T T T
A) — and — B) — and — C) —and —
(&) 2 12 (&) 2 6 ©) 4 4 >
| /4 T T T &\H\ \ O\
(D) — and — (E) — and — b, \
6 3 2 3 o o~
4 x : S
35. If A= and if xy =1, then det(A4A4") is equal to
_'V a_n
(A) @ ~1 (afﬂ)1 (C) 1-a’ @) (-1) (B (a-1)
Space for rough work
—
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x A :
36. If f(x)= N , then f(Ax)— f(x) 1sequal to
X

(A) x(2*-1) (B) 24(x*-1) (C) ;ﬁ(x-’*—l) (D) A(x*-1) (B x*(4°-1)

3. It A:(au) , Bz(b--) and C:(c--) , then the product (BC)A 1s possible onl
Y Jmxn Y nxp ) pxq

-~
(&) m=gq (B) n=g¢q (C) p=¢ (D) m=p (E) m=n

38. If 215-'_3 < 4'2_1 , then x lies in the interval
o 11 11 11 11
A) | 0,— B'/—, C) |0, D) | —c0,— E) | —,
()_16] ( _1600] ()[16] ()( 16]()(16J

——

39. If 7x—2<4-3x and 3x—-1<2+5x, then x lies in the interval

S

o —

C —

W i = . =

33 -3 3 3 3 3 3 3.3
Ay | == (B B l—=% bllE) |5 =
(A) [5,2] ,f)(:z,s] (C) 2,5] ® =35 [® tfs ]

K | _

40. The value of \5(00515” —sinlS“) 1s equal to

(A) V3 (B) V2 (C) 1 (D) 2 (E) 23
Space for rough work
N / 4 x
g(-;._,‘)ﬁl:-;?‘\ f\f})f thgi Bifl 1-01’]'5
g (w07 > AR e Kb SRLD
L= B 3k
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o\ A,

7)1t p : It is snowing, ¢ : I am cold, then the compound statement “It is snowing and 1t 1S

~—<_“ not that J-am cold” is given by
. (~¢q) (B) pag (C) (~p)rg

(D) (~p)A(~q) & pv(~q)

42. Which one of the following is not a statement? \ @
(A) Iyis not that the sky 1s blue~" " D-Jv
Is the sky blue?

(C) The sky is bluev i §\\O
(D) The sky is dark in the mght V O~

(E) The sky is not blue in the night ~~ WJK

43. Ifp: Theearthisround, ¢ :3+4=7,then (~ p)v(~q) 1s

(A) It is not that the earth is round or 3+4 =7 \

(B) The earth is round and 3+4 =7
LC%IZS not that the earth is round or it is not that 3+4 =7
(D) The earth is round or 3+4 =7

( (E) ['he earth is round or it 18 not that 3+4 =7

=

44, 1If cosx=- % where x € [0,:{], then the value of cos(%) 1s equal to
(A) — ®) = (C) —em RIS (E) e
10 5 J— 5 J10

. Space for rough work
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45. The value of sec” @+ cosec’d is equal to
(A) tan” @+cot” @ @é; @ cosec’ @ (C) secé cosecl

(D) sin” @ cos’ @ (E) sec’ @—cosec’d

x—1 .
46. If xe (E,H‘], then Sk 1s equal to

2 secx+1

2 )

(B) (sinx—cosx) (C) (cosecx—cotx)

9

(A) (cosecx+cotx)

(D) (sec x +tan _;;)1 (E) (secx—tan x)j

"HS} 47. The value of s.ecz—j’r 4 cosecs—ﬁ is equal to

... \i 3 6
(A) 2 (B) -2 (C) 4 (D) - 4 @0
\ 48. The value of tan™ (ﬁ] +tan " (—-l——j 1s equal to
0 L\(-; 2 \/5
Q i (A) tan " (ij (B) tan_l(—z—) (C) tan“[i)
W V3 V3 2
) 4 &7 5
\ an= | L N fan= [ 2
e : © i)
o 1
Space for rough work -
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(09

P ﬂ,:\ q = L
49. The value of cos (sin"[%]] Al 1o o$™ 3 E'ﬁ e Z
(A) —‘?— ® > (©) —j—; (D) é (E) -‘é—g
S0, R 2% & tin~' 3x = % then the value of x is equal to
B B OF OF  ®F

51 If sinx SEC X xtanx = 9, where xe(O, g—),thenthevalue of x i1s equal to

COSX coOSsecx cotx

T T T T
)~ (B), 5 o) = (D) 7 (2) =

52. One of the principal solutions of J3secx=-2 is equal to

27T T Sr T T
(A) 5 (B) P (C) 3 (D) 3 (E) E

53. If the distance between the two points (-1, a ) and (-1, —4a ) is 10 units, then the values

of a are
(A) + 1 (B) +2 (C) £3 (D) + 4 (E) +5
Space for rough work
Pl
(65 s %3
2)
A TG
A (Y
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54.

S5,

56.

57.

S8.

. . 2
If the slope of the line joining the points (3, 4) and (-2, a ) 1s equal to — B then the
value of @ is equal to

(A) 6 (B) 4 (€) 3 (D) 2 (E) 1

: | . ] .
If the area of the triangle formed by (0, 0), (a, 0) and (5 , @) 1s equal to s square units,

then the values of a are

(A) +2 (B) +3 (C) +1 (D) +4 (E) +5

The equation of the line perpendicular to the line 2x — 3y + 5 = 0 and making an
intercept 3 with y-axis 1s

‘ (A) 3x+2y—6=0 (B) 3x+2y—12=0 (C) 3x-2y—-6=0

(D) 3x+2y +6=0 (E) 3x+2p—5=0

The perpendicular distance from the point (1, —1) to the line x + 5y — 9 =0 1s equal to

2 13 13 2 1
s} i b N 3
(A) "13 (B) ,/ > (C) > (D) T (E) 3

The angle between the lines 2x + 11y - 7=0and x + 3y + 5 = 0 1s equal to
A)tan"'—  (B) tan'—  (C) tan™' = D) tan" —  (E) tan' —
(A tan? = B)ants @tz (D) ntT (B) tan!

Space for rough work
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S9.

60.

61.

62.

The distance between the parallel lines 5x—-12y—-14=0 and 5x—-12y+12 =0 is equal

fo

1 2 . 4
) (B) 2 = (D) 4 ST

Let C be a circle in the family of concentric circles x° + y* = k%, where k is a parameter.
If C passes through (1, 2), then the equation of C' 1s

(A) ¥*+y*=5 (B) x*+1*=25 (C) *+y*=4/5
(D) XX+y*=4 (E) x*+y*=2

The equation of the circle with centre at (1, 1) and touching the line 3x+4y+3=0 is

(A) x°+y%2-2x-2y+2=0 (B) x*+y*-2x-2y-2=0
(©) x*+y*+2x+2y+2=0 (D) x*+y*-2x-2y-4=0
(B) x?>+y?+2x+2y+4=0

If (4, 0) is a point on the circle x* + ax + y* = 0, then the centre of the circle is at

Space for rough work
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63. If (-2, 2) and (k, 0) are two diametrically opposite points of a circle of radius 1. then the
equation of the circle is

(A) x°+9°+2x—4y+4=0 B) x*+)*+4x— 2y—-4=0
(C) x¥*+)y —4x+2y+4=0 D) xX*+y* +4x-2y+4=0
(B) x¥*+)°—4x-2y— 4 =0

64. If the ends of a focal chord of the parabola y* = 8x are (x,») and (x,,,), then

X, X, + y,¥, 1s equal to

(A) 12 (B) 20 (C) 0 (D) — 12 (E) — 20

65. The eccentricity of the ellipse 12x* +7y% =84 is equal to

J5 . \/? J5 5 '
(A) — (B) ¥ (€) 13 (D) - A

7 12

66. If the eccentricity of a hyperbola is+/2 and if the distance between the foci is 16, then its
equation 1s

(A) x -y’ =4 (B) x°—y*=8 (C) x*—y* =24
(D) x* -y’ =32 (E) x° -y’ =64

Space for rough work
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67.

68.

69.

70.

71.

,.}

Ve

+ el represents an ellipse, then the foc1 are

[f the equation
O—-¢c 5-c

(A) (£3,0) (B) (£2,3) (C) (£4,0) (D) (x2,1) (B) (£2,0)

If the vectors 3i —-4}' —k and 2i+3j — 6k represent the diagonals of a rhombus, then
the length of the side of the rhombus 1s
53 15v/3 1743

B) 15 —_— D *
(A) 15 (B) 1543 (©) = (D) — (E) —

If G=2i+ 3}+akﬂ and b = 3?—&}‘+ 2k , then the angle between a +bh and d@—b is
equal to

.q

A) © B) Z ) 2 . b 4
(A) (B)eg (_C)4 (D)3 =)

lfﬂ*‘2!+2] k, b= m+ﬂ;+7i\ and |a+b‘ |n—h| then  + £ 1s equal to

(A) 2 (9/ (€) O (D) 1 (E) -

[f the projection of b on d istwice the projection of @ on b ,then |b | —|d | is equal to

(A) |@-b|  (B) lal+[b] (C) [b] (D) |d] (E) 1

Maths- II/BUI”

)l 18Ik = a0

SpaLL for rough work _
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@ —tt

w AW 0 el S
72. Ifa=i—j and b= j+k,then ‘Eixb' +‘Ez’-bi IS{V
(A) V2 (B) 2 (C) V6 (Y4 (E) 6

73. I |a|=1, |b|=3 and |d—5| =7, then the angle between @ and 5 is

(A) 0 (B) % (C) % (D) % (E)%

74. A vector of nitude 7 units, parallel to the resultant of the vectors @ =2i -3 — 2k

+2}+£,m
’ JE(T+}+£) (B) 7(?—}—}’2) (C) —\%(—;Hc)
(D) —}3-(}’—-}—12) (E) 7(f+}—1€)

75. The point which divides the line joining the points (1, 3, 4)and (4, 3, 1) internally in
theratio2: 1, 1s
5

Space for rough work

e k| ~ . | , - |
RO - it
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. -7 y+3
76. The angle between the lines xl :'}—:g—:g and
r T T
A) — B) — C) —
(A) r (B) : (C) >

77. The equation of the plane which i1s equidistant from the two parallel planes

2x—-2y+z+3=0 and 4x-4y+2z+9=0 1s

(A) 8x—-8y+4z+15=0
(C) 8x-8y+4z+3=0
(E) 8x—-8y+4z+4=0

78. The angle between the planes 3x+4y+5z=3 and 4x—-3y+5z =9 is equal to

R | 4 /4
A) — B) —
&) 3 (B} =

79. The vector equation of the plane through the point(2,1,—1) and parallel to the plane

F-(f+3}-;€):o is

(B) 8x—-8y+4z-15=0
(D) 8x—-8y+4z-3=0

T
)
()6

(B) F—(f—9_}+11£):4
(D) 7-(i+3j-k)=4

z+9d .
1s equal to

(E) 0

D) = ). o

Maths-11/B1/12
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80. If the foot of the perpendicular drawn from the point (5,1,—3)t0 a plane 1s (1,—1,3),
then the equation of the plane is
(A) 2x+y—-3z+8=0 (B) 2x+y+3z+8=0
(C) 2x—-y-3z+8=0 (D) 2x—y+3z+8=0
(E) 2x+y—-3z+6=0

81. The equation of the plane through the line of intersection of the planes
x—y+z+3=0and x+y+2z+1=0 and parallel to x-axis 1s

(A) 2:‘"_’3:2 (B) 2}’ =2 (C) 4y+3':4 (D) 4_}‘—22’:3 (E) 4-1.3—2::4

82. The equation of the straight line making angles 60°, 60" and 45° with positive
direction of the coordinate axes and passing through the point (2,1,-1) is
(A) V2(x-2)=2(y-D=(z+)  (B) (x=2)=V2(y-D=(+D
(C) V2(x-2)=(y-1)=(z+]) (D) (x-2)="2(y-D=v2(z+1)
(B) V2(x=2)=(y-1)=2(z+D)

83. If two numbers p and ¢ are chosen randomly from the set 11,2,3,4} with replacement,

then the probability that p° 244 is equal to

1 3 1 9 7
A= B) — C) — D) — UL
()4 ()16 ()2 ()16 (.11)16

Space for rough work
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84.

85.

86.

A die is rolled three times. The probability that the sum of three numbers obtained 1s 15,
1s equal to

5 5 11 7 13
Ay s B)i— ) o e B)) —
) Tos ®) 216 ©) 216 108 ®) 216

The mean of five numbers is 0 and their variance is 2. If three of those numbers are
—1, 1 and 2, then the other two numbers are

(A) —5and3 (B) ~4and2 (C) -3andl (D) —2and0 (E) —1and -1

A batsman in his 16" innings makes a score of 70 runs, and thereby increases his average
by 2 runs. If he had never been ‘not out’, then his average after 16™ innings is

(A) 36 . .« (B8 (C) 40 (D) 42 (E) 44
87. The value of lim log(1+2x) . 1t el
; e value o o 5 1s equal to O\\b
(A) 1 (B) 2 (©) 3 (D)% (a-%
88. rl_i}%]_ 1 — is equal to
| 32X
(A) 0 B) 1 (C)% (D)% (E) —
Space for rough work ’§+ §+§
r L8
. ;+6+H
\/&1 §+é*€
Gthto
A*{%é
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89. When x > 2, the function f(x)= 2\.1:— 2| —lx+1\ 4+ x is reduced to

(A) f(x)=-2x+3 (B) f(x)=2x-5 (C) f(x)=35
(D) f(x)=-1 (B) f(x)=-2x-3
(% if x<1

90. Ifthe function f(x)=qcx+ k,if 1<x<4
(=2, if x=24

uous everywhere, then the values of ¢ and k are respectively

1s contin
(A) —3,-5 (B) —3,5 (C) -3, -4 (D) -3, 4 (E) -3, 3
tan x d}‘ T .
91. If y=5"",then — at x=-—138 equal to -
dx 4
(A) 5log5 (B) 10log5 (C) 0 (D) (log 5)° (@I{g 5
92. If y:sin_lx and z =cos”’ (\ﬁ—xz ), then & 1s equal to
dz
X 1 —X —X
(A) (B) — (C) (D) 1 (E)
\/1—-12 2 Jl—x?' 2\[1—-)(2
Space for rough work |
T J
Q?QQ:Q I "'F’"f + 3
[« 1 L
= A=Akl | ¢ P S
_ N o A
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dv 2T

93. If u=2(t—sint) and v =2(1—cost), then .5 at r=~3— 1s equal to
(it
2 | 1
A) 3 B) -3 (C) 243 (D) = (E) —=
(A) (B) 7 7
l 3_Tlﬂﬂ
94. If f(x)=Ilog c‘h[_‘ ] . then f'(1) is equal to
| AIEEL
3 2 | 1 1
A) — B) — C) - D) — E) —
(A) n (B) A (€) 3 (D) - (E) <
2 dy -
95. If y=(logx)", then e at x =e 1s equal to
dx |
e W
(A) 2 (B) — (C) e Q}/ (E) 2e
2 %
96. If y* =27, then f—?—} is equal to ﬁ
ax
) ) ) )
(A) ilog(—) (B) ilog[~} () ilog[i]
X y y y X 2
(D) ilog(l] (E) =log(2y)
y 2 e

Space for rough work
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. dy
07. If x*+2xy+ 2y =1, then — at the point where y =1 1s equal to

dx

9

(A) 1 (B) 2 () =4 (D) -2 (E) 0

98. The points on the graph y = 3 —3x at which the tangent is parallel to X-ax1s are
2 (B) (~1,2)and (-2, —-2)
(C) (2,2)and (-1, 2) (D) (-2,-2) and (2, 2)

(E) (1,-2)and (1,2

99. The slope of the normal to the curve y] —xy —8=0 at the point (0, 2) is equal to

(A) -3 (B) -6 (C) 3 (D) 6 (E) 8

100. If the straight line y—2x+1=0 1s the tangent to the curve xy +ax+ by =0

at x = 1, then the values of a and b are respectively

(A) land2 (B) 1 and -1 (C) -1and2 (D)1 and -2 (E) 1 and -2

101. If the angle between the curves y = 9% and y=3 18 2,

equal to
| log(3/2 6 _y )
(A) 837 2) (B) — N
1+ (log 2)(log 3) 7 7
(D) l0g(o) (E) 0

+(log 2)(log 3)

then the value oftan a 1s

Space for rough work

e i
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102. The function f(x)= 3x” —36x+99 is increasing for

(A) —o<x<2 (B) -2<x<® (C) 2<x<?2
(D) x<—2 or ,Y}Z (E) 00 < X <. 0D

103. Let f(x)= x*—x+p (0<x<2), where p is a constant. The value ¢ of mean value
theorem 18

J3 Jo 3 V2 23

A B) — C) — D E) —
(A) - (B) : (C) 2 (D) 3 (£) 3
104. The minimum value of the function f(x)=— : in the interval 0:,£ 1S
' SN X + COS X . 2
2 J2 2 2
(A ) St (C) (D) — (E) 1
2 e i NS NS
10S. j X di 1s equal to
=%y
(A) . — — - +C (B) 8 — 4 - 2 +C
HWx-1)? (x-=1) 2>x-1)?  (x-1)
5 | _
(C) — + 2 + (D) 2 — — 2 +C
3(x=1) 2(x~-D 3(x-1)" 2(x-1)
-5
(E) D G

— + +
2(x-1)" (x-1)

Space for rough work
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dx
106. 1s equal to
Ix_\/; E
(A) 2log|Jx—1]+C  (B) 2log|Jx+1|+C  (C) log|vx—1[+C
(D) ?lz-log[\/;c+1|+C (E) %logI\/;—lHC
dx .
107. is equal to
I4sin2x+30052x :
\/5 I(Ztanx] ]{tanxJ
A) —tan +C B —tan +C
P ol o e
2 N Ztan.r] x/ﬁ __l[tanx]
C) —=tan +C (D) —tan +C
© 5 ( B ) -
2tan x
(E) ( J+C
el W
108 J’Sﬁ’”dx is equal to
Jcos 2x
(A) 2sin_1(tanx)+C' (B) tanl[tagI)+C
(C) sin”'(tanx)+C (D) —;-sin"(tanx)+C'

(E) %tan"] (2tan x)+C

Space for rough work
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X

109. IE— (xlog x+1)dx is equal to

X

X

(A) O (B) xe*log|x|+C (C) e'log|x|+C

A

(D) .r(e-“+1og1x1)+c (E) xe* +log|x|+C

110. j L1108 % ~ dx is equal to

(1+ xlog x)
1 . 1 -1
(A) +C (B) +C (C) +C
1+ xlog | x| 1+log | x| 1+ xlog | x|
(D) log : +C (E) lﬂg\1+xloglx [\-i—C
| +log | x|

A

111. j(l _tan¥Ydx is equal to

tanx +C (B) secx+C (C) 2x—secx+C

(D) x—tanx+C (E) 2x—tanx+C

O
112. The value of ||x—3|dx isequalto
0

(A) 6 (B) 0 (C) 12 (D) 18 (E) 9

Space for rough work
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113. If f(x)= J‘cos(rj')dr, then f'(x) is equal to

(A) c:i)&;{s.irr1 x)cosx —2 005(8:{:3 ¥ v (B sin(sin3 x)sin x—2 sin(8x3 )
(C) ma(cosﬁ X)COS X — 2005(.1:3) (D) cos(sin3 X) —005(8.1:3)

- : ., 4 ; 3
(E) sin(sin” x)cosx—2 sin(8x™)

10 10
X

114. j

0 ( 10— .1‘)] / +xV

dx 1s equal to

]
(A) 10 (B) 3 (€) 2 (D) > (E) O

115. The area bounded by y=x+2 (;71/ and the x-axis is (in square units)
(A) 1 (B) 2 7 4 (D) 6 (E) 8

116. The value of J.\/T G‘G dx 1s equal to
0

(A) (‘“’;2’ B) 2¢-2) (C) 2e-<1 (D) 2Ae-1) (E) 5;—1
Space fon rough work
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117.

d’y _dy d’y . dy
| —2 =0 —=-3—=0 C 3—-2y=0
6 S i #“r @j y (B) dxz dx ( )dx2 A ¥
' dzy. dy - . iy
D) ——+3=—+2y=4 ———-—+3 =0
(D) Tt &Y (E) =
fﬂll9. Anmtegratlng factor of the differential equation xdy — ydx + x *e*dx =0 is
(A) L (B) log\’1+x2 (C) V1+x2
X
(D) x (E)
1+ x?
120.. The solution of the differential equation x— . A, 1S
1+logx
| C |
(A) y=logx+C (B) V= (C) y=C(x+logx)
1+log x
(D) y=x+log(Cx) (E) y=C(+logx)
T ~ Spaceforrough work ' 2T
O & T
A (1 g0)
bsclf = = o
- +0oH X0
Maths-11/B1/12 6 3110 %

" 18.

| (23, 2
e . : . dy |2 doy

The order and degree of the differential equation —;x——;i = 2? + cos? x are,

\ /

respectively : bt -
wﬁzl (B) 3 and 3 (@4@ (D) 3and2  (E) 2 and2

The differential equation representing the family of curves given by y=ae* +b

Whﬁfe a mﬂ b m arbitraly constants, is




